5] E =

ES2ZX Xy UTRHRERBREET XM [EEFETEANL—2 3> 28] @IRR) ORBO—EBIZEY 5H ) F
L7z BHOEEDIZUTOINIZEESE TV E T,

il R ETIEEFT R iE
kil Hkvil | 452 5555 6 Gl | 1SRN & 45 PR VESERH & 4 PR AR
kil Hkvii | 55 375 7 il | TRAFBICLE G - 226 TAEBICLEE R 1 — 236
Ll 19 | AL EMSI3MTH | #LAa# R = (10x90—855) /855 =0.0637 | 43 # = = (10 x 90 — 855) /855 = 0.0526
kil 30 | AXFHLT7ATH | ~MEFHOBTICEIEE S 57 ~HHOBTIHEIEE S 572
Kkl 142 | Asc ks 1ATH | T ESERH & V6 B VESEari & fESEdREE
il 205 | AXEDSAATH |~ ERSIND, 2H AT HHRME | ~EEHREN D, 2L RIT2HEIT1N
B~ 5 i BB~
kil 295 | KL ENL61TH | ~HhEwvoT4 4 HIZ1IHT~ ~HEWVo T4 BT~

AR - 41 5 41 4 H 28 H 5847

T I EGAH B L ZETIET Y,




